Tripp Lite

1111 W. 35th Street
(] Chicago, IL 60609 USA
Telephone: 773.869.1234

www.tripplite.com

SmartRack Square Hole Hardware Kit with 50 M5 Highlights

screws and WaShers e Square hole hardware kit - 50
each M5 cage nuts and bolts
MODEL NUMBER: SRCAGENUT5MM o Fastens equipment to square

hole rack mount rails

o Compatible with all square hole
racks (EIA 310D)

Package Includes
e 50 pcs M5 cage nut zinc
e 50 pcs M5 pan head screw

e 50 pcs PVC black cup washer

Description
Tripp Lite's SmartRack SRCAGENUTS is compatible with all square hole rack enclosure cabinets. Square hole hardware kit has 50 each M5 cage nuts and

bolts to fasten equipment to square hole rackmount rails.

Features
o SmartRack SRCAGENUTS are compatible with all square hole rack enclosure cabinets

e Square hole hardware kit has 50 each M5 cage nuts and bolts to fasten equipment to square hole rackmount rails

Specifications
PHYSICAL
Shipping Dimensions (hwd / in.) 4x1x6
Shipping Dimensions (hwd / cm) 10.16 x 2.54 x 15.24
Shipping Weight (Ibs.) 1
Shipping Weight (kg) 0.45
WARRANTY
Product Warranty Period (Worldwide) | 5-year limited warranty

© 2015 Tripp Lite. All rights reserved. All product and company names are trademarks or registered trademarks of their respective holders. Use of them does
not imply any affiliation with or endorsement by them. Tripp Lite has a policy of continuous improvement. Specifications are subject to change without notice.
Tripp Lite uses primary and third-party agencies to test its products for compliance with standards. See a list of Tripp Lite's testing agencies:
http://www_tripplite.com/products/product-certification-agencies

171


http://www.tripplite.com/Rack-Cage-Nuts~SRCAGENUTS
http://www.tripplite.com/Rack-Cage-Nuts~SRCAGENUTS
http://www.tripplite.com/products/product-certification-agencies

@Iasﬂ U

KomnaHus ((3J'IeKTpO|_|J'|aCT» npeanaraeT 3akKn4vyeHmne onrocpoYHbIX OTHOLLIEHUN npu
NOoCTaBKaxX MMMNOPTHbIX 3NTEKTPOHHbIX KOMMOHEHTOB Ha B3aMMOBbLIFO4HbIX yCJ'IOBI/lFlX!

Hawwn npeumyuiectsa:

e OnepaTuBHbIE NOCTABKM LUMPOKOrO CMeKTpa 3NeKTPOHHbIX KOMMNOHEHTOB OTEYECTBEHHOIO U
MMMOPTHOrO NPON3BOACTBA HANPAMYO OT MPOM3BOAMTENEN U C KPYNMHENLLNX MUPOBbLIX
CKNaaos.;

MocTaBka 6onee 17-TM MUNIIMOHOB HAMMEHOBAHWUIN 3NEKTPOHHbLIX KOMMNOHEHTOB;

MocTaBka CNoXHbIX, AeULNTHBIX, MMOO CHATLIX C MPOM3BOACTBA NO3ULIUIA;

OnepaTtunBHbIE CPOKM NOCTABKM Nof 3aka3 (0T 5 pabounx gHewn);

OKcnpecc goctaska B Nnobyto Touky Poccuu;

TexHnyeckas nogaepkka npoekTa, NomMoLLlb B nogdope aHanoros, NocTaBka NPOTOTUMOB;

Cuctema MeHeXMeHTa KavyecTBa cepTuduumnposaHa no MexayHapogHomy ctaHgapTty 1ISO

9001;

o JlnueHausa ®CH Ha ocyulecTBneHne paboT ¢ NCNONb30BaHWEM CBEOEHUIN, COCTABAOLLINX
rocygapCTBEHHYIO TalHy;

o [locTaBka cneumnanmampoBaHHbIX KOMNoHeHToB (Xilinx, Altera, Analog Devices, Intersil,
Interpoint, Microsemi, Aeroflex, Peregrine, Syfer, Eurofarad, Texas Instrument, Miteq,
Cobham, E2V, MA-COM, Hittite, Mini-Circuits,General Dynamics v gp.);

MoMMMO 3TOro, O4HMM M3 HanpaBnNeHU koMnaHum «AnekTpollnacT» ABNseTca HanpaBneHne

«UcTouHmkn nutaHua». Mel npeanaraem Bam nomoub KoHCTpyKTOpCKOro otaena:

e [logGop onTuManeHOro peleHus, TexHn4eckoe 060CHOBaHME Npu BbIOOpPE KOMMOHEHTA;
Monbop aHanoros.;
KoHcynbTaumm no NpUMEHEHMIO KOMMOHEHTA;
MocTaBka 06pa3yoB M NPOTOTUMNOB;
TexHn4veckasn noaaepka npoekTa;
3awmTa OT CHATMSA KOMMOHEHTA C NPON3BOACTBA.

Kak c Hamu cBfizaTbCcA

TenedoH: 8 (812) 309 58 32 (MHOrokaHanbHbIN)
Pakc: 8 (812) 320-02-42

OnekTpoHHas nouTta: org@eplastl.ru

Aapec: 198099, r. Cankt-INeTepbypr, yn. KannHuHa,
Oom 2, kopnyc 4, nutepa A.



mailto:org@eplast1.ru

